Fin(0) & (Inf(1) — (Fin(2) & Inf(3)))

lg & init & Ir

lg & linit

lg & linit & Ir

lg & init & r

lg & linit

lg & init & lg & linit & Ir

‘7 =
lg & init & Ir

lg & linit lg & init & ¢

lg & init & Ir lg & init & 1 lg & linit & Ir

lg & init & r

lg & linit & Ir
lg & init & Ir

lg & init & Ir

lg & init & r lg & init & Ir

lg & init & Ir lg & init & Ir lg & init & ¢ g & init & Ir lg & init & r

lg & init &

g & init & r

g & init & Ir lg & init & Ir

g & init & r

lg & init & ¢ lg & init & Ir

g & init & r g & init & Ir

(9) ) lg&imit&ex

lg & init & g & init & Ir g & init & r

lg & init & r lg & init & r

lg & init & Ir lg & init & Ir lg & init & r

lg & init & ¢

!g&

lg & init & Ir

lg & init & T lg & init & Ir

g & init & r lg & init & r lg & init & Ir

g & init & v lg & init & Ir

g & init & v

g & init & r

lg & linit & Ir

<Iip=

lg & init & Ir

lg & init &

14 / {12}

lg & init & Ir

g & init & Ir

lg & init & 1

lg & linit & Ir

g & init & Ir

g & finit & Ir

lg & linit & v

lg & init & v

lg & init & Ir g & init & Ir

g & init & Ir

C16/ ) 30

lg & linit & Ir

lg & init & Ir

g & init & Ir

lg & init & Ir

lg & linit & Ir

g & init & r

lg & init & Ir

lg & linit & Ir

g & init & Ir

lg & init & ¢

lg & init & Ir

lg & linit & Ir

!g&init&:r

g & init &

lg & linit & Ir

g & init & r



